

1/11 118 正数版

Calcutt 2019
 Lec 13 01/08

$$\begin{aligned}
 I(1) \quad (\sqrt{x})' &= \frac{1}{2} \cdot \frac{1}{\sqrt{x}} \text{ or } (2\sqrt{x})' = \frac{1}{\sqrt{x}} \text{ or } \frac{1}{\sqrt{x}} \\
 \int_1^e \frac{\log x}{\sqrt{x}} dx &= \int_1^e \log x (2\sqrt{x})' dx \\
 &= 2 \left[\sqrt{x} \log x \right]_1^e - 2 \int_1^e \sqrt{x} \cdot \frac{1}{x} dx \\
 &= 2 (\sqrt{e} \cdot 1 - 1 \cdot 0) - 2 \int_1^e \frac{1}{\sqrt{x}} dx \\
 &= 2\sqrt{e} - 2 \left[2\sqrt{x} \right]_1^e = 2\sqrt{e} - 4(\sqrt{e} - 1) \\
 &= -2\sqrt{e} + 4.
 \end{aligned}$$

$$\begin{aligned}
 (2) \quad \int_0^1 x^2 (x-1)^2 dx &= \int_0^1 x^2 \left\{ \frac{(x-1)^3}{3} \right\}' dx \\
 &= \left[x^2 \frac{(x-1)^3}{3} \right]_0^1 - \frac{2}{3} \int_0^1 x (x-1)^3 dx \\
 &= -\frac{2}{3} \int_0^1 x \left\{ \frac{(x-1)^4}{4} \right\}' dx \\
 &= -\frac{2}{3} \left[x \frac{(x-1)^4}{4} \right]_0^1 + \frac{2}{3} \cdot \frac{1}{4} \int_0^1 (x-1)^4 dx \\
 &= \frac{1}{6} \cdot \left[\frac{(x-1)^5}{5} \right]_0^1 = \frac{1}{30} (0 - (-1)) = \frac{1}{30}
 \end{aligned}$$

$$(3) \quad I = \int_0^1 \frac{1}{\sqrt{2x+1}} dx = \frac{1}{2} \int_0^1 \frac{1}{\sqrt{2x+1}} (2x+1)' dx$$

$u = 2x+1$ or $\frac{1}{\sqrt{u}}$		
x	$0 \rightarrow 1$	
u	$1 \rightarrow 3$	

$$\begin{aligned}
 I &= \frac{1}{2} \int_1^3 \frac{1}{\sqrt{u}} du \\
 &= \frac{1}{2} \left[2\sqrt{u} \right]_1^3 = \sqrt{3} - 1
 \end{aligned}$$

(4) $(e^{-\frac{1}{2}t^2})' = -t e^{-\frac{1}{2}t^2}$ or $(-e^{-\frac{1}{2}t^2})' = t e^{-\frac{1}{2}t^2}$
 とおくと

$$\int_0^1 t e^{-\frac{1}{2}t^2} dt = \left[-e^{-\frac{1}{2}t^2} \right]_0^1 = -(e^{-\frac{1}{2}} - 1)$$

$$= 1 - \frac{1}{\sqrt{e}}$$

(3) の R1131 $\frac{1}{\sqrt{2x+1}}$ とおくと $x+1 = t$ とおくと $x = \frac{1}{2}(t-1)$
 とおくと $\frac{1}{\sqrt{2x+1}} = \frac{1}{\sqrt{t}}$ とおくと $\frac{1}{\sqrt{t}}$ とおくと $\frac{1}{\sqrt{t}}$
 とおくと $\frac{1}{\sqrt{2x+1}}$ とおくと $\frac{1}{\sqrt{t}}$ とおくと $\frac{1}{\sqrt{t}}$

t	1 → 3
x	0 → 1

$$\int_0^1 \frac{1}{\sqrt{2x+1}} dx = \int_1^3 \frac{1}{\sqrt{t}} \cdot \frac{1}{2} dt = \dots$$

(5) $t = 3x+1$ とおくと $x = \frac{1}{3}(t-1)$ とおくと $\frac{1}{3}$

とおくと $\frac{1}{3}$ とおくと $\frac{1}{3}$ とおくと $\frac{1}{3}$

$$\int_0^1 x \sqrt{3x+1} dx = \int_0^4 \frac{1}{3}(t-1) \sqrt{t} \cdot \frac{1}{3} dt$$

$$= \frac{1}{9} \int_1^4 (t\sqrt{t} - \sqrt{t}) dt$$

$$= \frac{1}{9} \left[\frac{2}{5} t^{\frac{5}{2}} \right]_1^4 - \frac{1}{9} \left[\frac{2}{3} t^{\frac{3}{2}} \right]_1^4$$

$$= \frac{2}{45} (32-1) - \frac{2}{27} (8-1)$$

$$= \frac{116}{135}$$

$$(t\sqrt{t})' = \frac{3}{2} \sqrt{t}$$

$$(t^{\frac{5}{2}})' = \frac{5}{2} t^{\frac{3}{2}}$$

$$(6) \int_0^1 \frac{x-1}{(x-2)^3} dx$$

$$t = x - 2 \quad \text{and} \quad x = g(t) = t + 2$$

$$g'(t) = 1$$

$$\begin{array}{c|c} t & -2 \rightarrow -1 \\ \hline x & 0 \rightarrow 1 \end{array}$$

$$I = \int_{-2}^{-1} \frac{t+1}{t^3} dt = \int_{-2}^{-1} \left(1 + \frac{1}{t}\right) dt$$

$$\frac{d}{dt} (\log|t|) = \frac{1}{t}$$

~~$$= \left[t + \log|t| \right]_{-2}^{-1}$$

$$= (-1 - (-2)) + (\log 1 - \log 2)$$

$$= 1 - \log 2$$~~

$$= \left[-\frac{1}{t} - \frac{1}{2} \cdot \frac{1}{t^2} \right]_{-2}^{-1} = -(-1 + \frac{1}{2}) - \frac{1}{2} (1 - \frac{1}{4})$$

$$= \frac{1}{8}$$

Rii

$$I = \int_{-2}^{-1} \left(-\frac{1}{2}t^{-2}\right)' (t+1) dt$$

$$= \left[-\frac{1}{2} \cdot \frac{1}{t^2} (t+1) \right]_{-2}^{-1} + \frac{1}{2} \int_{-2}^{-1} \frac{1}{t^2} dt$$

$$= -\frac{1}{8} + \frac{1}{2} \left[-\frac{1}{t} \right]_{-2}^{-1} = -\frac{1}{8} + \frac{1}{2} \left(1 - \frac{1}{2}\right) = \frac{1}{8}$$

$$\text{II} \quad f'(0) = \frac{1}{f^3(0,2)} \begin{vmatrix} 0 & f_x(0,2) & f_y(0,2) \\ f_x(0,2) & f_{xx}(0,2) & f_{xy}(0,2) \\ f_y(0,2) & f_{yx}(0,2) & f_{yy}(0,2) \end{vmatrix}$$

in 2

$$f_x = 2x, \quad f_y = \frac{1}{f^2}$$

$$f_{xx} = 2, \quad f_{xy} = f_{yx} = 0, \quad f_{yy} = \frac{1}{f^3}$$

in 3

$$f'(0) = \frac{1}{-8} \begin{vmatrix} 0 & 0 & 1 \\ 0 & 2 & 0 \\ -1 & 0 & -1 \end{vmatrix} = \frac{1}{-8} \cdot 2$$